
Name: Answer KeyAdding and Subtracting Rational Numbers

Math www.CommonCoreSheets.com
1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. 168.02

2. 128.3

3. 141.47

4. -66.991

5. 33.07

6. -68

7. -28.996

8. 117.37

9. -40.6

10. 134.043

11. 67

12. 118.4

13. 79

14. 14.02

15. 99.001

16. -69

17. -13.425

18. 66.98

19. 128.007

20. 135.073

Solve each problem

1) 90 - (-78.02) = 168.02

2) 45.6+ 82.7 = 128.3

3) 42 - (-99.47) = 141.47

4) 11.009 - 78 = -66.991

5) 68.07 + (-35) = 33.07

6) 11 - 79 = -68

7) 28.004 + (-57) = -28.996

8) 68.3 + 49.07 = 117.37

9) 55 - 95.6 = -40.6

10) 81.03 - (-53.013) = 134.043

11) 69 - 2 = 67

12) 34 + 84.4 = 118.4

13) 86 + (-7) = 79

14) 71.03 + (-57.01) = 14.02

15) 14.001 + 85 = 99.001

16) 28 + (-97) = -69

17) 78.78 - 92.205 = -13.425

18) 69 + (-2.02) = 66.98

19) 40.007 - (-88) = 128.007

20) 69 + 66.073 = 135.073
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Modified

Solve each problem

117.37 134.043 -66.991 33.07 67

-68 118.4 128.3 -40.6 168.02

141.47 -28.996

1) 90 - (-78.02) = 168.02

2) 45.6+ 82.7 = 128.3

3) 42 - (-99.47) = 141.47

4) 11.009 - 78 = -66.991

5) 68.07 + (-35) = 33.07

6) 11 - 79 = -68

7) 28.004 + (-57) = -28.996

8) 68.3 + 49.07 = 117.37

9) 55 - 95.6 = -40.6

10) 81.03 - (-53.013) = 134.043

11) 69 - 2 = 67

12) 34 + 84.4 = 118.4

Answers

1. 168.02

2. 128.3

3. 141.47

4. -66.991

5. 33.07

6. -68

7. -28.996

8. 117.37

9. -40.6

10. 134.043

11. 67

12. 118.4

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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